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Solving Multi-Step Equations - Integers

Solve the given equations.

6x -2 2
X +

U832 =7 @D 3+5=5

6(2x +2)=3@4x+1)-22x+ 2) 4(5x + 3) + 3(-4x - 4) =-48

(5) 36 =2(r+6) + 4(r + 4) (6) 0=10(n-4)-6(n-4)

-7m-1)+32m-1)=8 7x + 3(-4x - 5) = -65

(9 6x-2(x-5)=46 -14+6b+7-2b=1+5b
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Answers
6x-2 _ 2 X X _
O ex+2 ~ 2 @ 3+5y=>
_ 11
= 12 x=6

6(2x +2)=3@4x+1)-22x + 2) 4(5x + 3) + 3(-4x - 4) =-48

_ 21 _ 52
xX= 34 X 25
36 =2(r+6) + 4(r + 4) (6) 0=10(n-4)-6(n-4)
_11
r—13 n=4
-7Zm-1)+32m-1)=8 7x + 3(-4x - 5) = -65
m=-4 x=10
(9) 6x-2(x-5)=46 -14+6b+7-2b=1+5b



